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lnstruction : Use of calcutators and Statisticat

PAFT - A

(Short Answet

(Short Essay)

Answer all lhe 6 queslrons.

Answer alllhe 6 qlesrions.

1. Del ne parameler. Give an exarnple for il.

2. Deline unbasedness.

3. Expla n method oj moments

4. Deiine simple hypothes s.

5 Del ne sze oi a l€st.

6. Wriie are lhe requirements ol a good exper menlai design.

7 Define consislency. Showthat sampie vaiance is a consislent estimalor ot the
popualion varance in the case ol normatpopr aiion N (!,6r).

I Disl ngL sh belween poinl estimation and inieruat €slimation.
L Explain two taied test.

10. Stale Neyman Pearson theorem
''. Araldor<aaD"or:,/" 0 on "rorra poputJton wrh qurodrd opvd1o.

5 gi/p'h" 'olrowlno ob:elatoi b . /2 7t.8r. J t6,67 O lt dnd16
.Calculale lhe 95o/o coniid€nce ntervallorthe poputation mean
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12. A random sample oi 16 vaiues trom a no.mal popuation showed a mean of
41.5 inches and lhe sunr ol squares oj dev aiions irom ih s mean equallo 135
square nches Show lhal lhe assum ption oi a mean oi 43 5 inches ior lhe
populal on s nol reasonabe.

13. Expain chisquare iestlor populalion varance.

r.1. Describe the asslmptors in ANOVA

PART - C

(Essay)

Answer any 4 questons. Ia,3=12)
15 Delne Suncency. Slrow thal sampe mean is suiicient ior eslmating the

parameter i n the Poissof dislrbul on

l6 Exp ain briellylh€ p.ocedure loilowed n tesls oi stalistica hypolhesis.

17 r a ceila n exper ment lo compare lwo types ol anima joods A and B the
10 owing resulls ol increase in weighis were obserued !n animas

Food A : 49 53, 51 52. 47 50. 52 53

Food B : 52 55. 52. 53 50 54, 54, 53

Examine lhe ncr€ase in we ghl. when the same sel ol eghl anirnals where
used in bolh lhe foods

18 Two iidependenl sampes oi I and 7 ilems respeclvely had lhelolowing va ues:

Samplel: 9. 11. 13. l1 15 9. 12 14

Sample ll: lO IO. 4 9 8 lO

s the d flerence belween the means oi samples slgn ficant ?

19. Explain the Ch square tesl ior independence ol attrbutes.

20. The iollowing jig!res relate to produclion n Kg. oi three vareties A, B and C
of wheal sow. n 12 plots.

A: 14. 16. 18

B : 14. 13. 15, 22

C: 18, 16, 16. 19, 20

ls there anv sqniiicanl dlilerence n lhe produclon oi 3 varieles.
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(Lons Essay)

Answer any 2 q!esr ons

Aqe qroup of mother

15 20 20 -25 25 30 30 35
1 149 154 151 14I 15Q

158 t6 1 157 157 i54
3 18l 17 6 16 8

4 179 17.3

5 18 0 144 177
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(2x5=r0)

21. Expain coniidence nterual. Obrain 99% conlidence inlerua torihe ditterenc€
oi rneans ol two normal populauons when llre poputalon variance are known.

22 Lel p be lhe probability that a coin w lallhead n a s ng€ toss in oderio
lesl Ho : = p = 0 5 against H j : p = 0.75. The coin is lossed 5 I mes and Ho is
reiecled il more lhan 3 heads are oblalned. Find lhe probab lty ol type I etror
and power oi the lest.

23 The peopleotan isand aresupposed to belongtolheto!rbrood groups O A, B
and AB in lhe ralio 4:12 5:4. A samp e oi 770 persons showed that 180 belonged
lo O, 360 belonged to A 132 beionged ro B and 98 betonged to AB Does the
sample suPport the asslmpl on

24. The daia g ven belowshowthe birlh we ghls ofbabies born classil ed accord ng
to the age oi molherand orderol gravida. Testwhetherlhe age otmotherand
oder oi gravda s gnil cail y aflectlhe b rih weiqht.


